Puzzle #66
[image: image1.png]Molly and Maggie went to different stores
that sold candy. When they saw each other
later that day, they realized they had bought
the same number of similar chocolates.

Molly asked Maggie how much she had paid
for her chocolates. Maggie said she had
purchased hers at 3 for 20 cents. Molly said
she had purchased hers at 8 for 50 cents.
Maggie then replied she had spent only a
nickel more than Molly.

How many chocolates had each purchased?




Puzzle #66

Answer

[image: image2.png]The answer is 12.

Maggie paid 6 2/3 cents for each chocolate candy
and Molly 6 1/4 cents. Maggie’s chocolates were
5/12 of a cent more than Molly’s. Maggie spent
5 cents more than Molly so
5/12 x =5 and x = 12 chocolates.




